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1.

‘I'he newly appointed Managing Dircctor of LM.F. is
(a) Kristalina Georgicva (b) Christine Lagarde
{c) Raghuram Rajan (d) Surjit Bhalla

The National Programme launched on October 10,
2019 by the Indian Government to encourage
talented children to enrich their skills is

(@) LAKSHYA (b) PRATIBHA
(¢) DHRUYV (d) PARIVARTAN

Match List = [ with List — 11 and select the correct
answer from the codes given below the lisis -

Thamas Cook i. Recipicniof
A Thom Bharat-Bharati Award
B. Greta ‘Thunberyg 2. Hong Kong l.cader
C. Dr. Usha Kiran 3. Environmental
Aclivist

4. British Tour and

ic Lam
D. Carriec L3 Travel Company

Codes :

A B CD
@ 1 2 3 4
by 4 2 3 |
© 3 42
@ 4 3 1 2

The 2019 Nobel Prize for Fconomics was given o

i n
a woman for the second time, name the first woma
who was earlier awarded this pnze.

(a) Esiher Duflo (b) Gerty Theresa Con

(¢) Maria Goeppert (d) Elinar Ostrom

aunched by Munistry of

Rural Sanitation Strialegy ! = 10 which of the

Jal Shakti in September 2019 relat
following periods ?
(a) 2019-2035
(c) 2019-2022

(b) 2019-2029
(d) 2019-2024

Centra! Institute of Indizin Languages is bocdted at which
of the following places ?
(a) Varanasi

(c) New Delhi

(b) Mysore
(d)} Shimla

India aims to achicve land degradation neutrality
by the year
(a) 202§
(c) 2038

(b) 2030
(d) 2040
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Which Geosynchronaus Sateliite L.aunch Vebicle
was used by ISRO to launch Chandrayaun-2 space
craft ?

(a) GSLV - MK IIl - M|

(b) GSLV « MK I1-M2

(¢) GSLV -MK 1V - M8

(d) GSIV-MK V-)M4

Which of the following statemcnts about India’s
largest Charkha isfiare true ?

1. Tt was inaugurated in Noida.

2. Itis made of used plastic waste.

Select the conect unswer from the codes given below ¢
Codes :

(a) Only i

(c) Both | and 2

(b) Only 2
(d) Necither | nor2

Which of the following organisms has white blood ?
(a) Firard (b) Cuckroach
(c) House bug (d) Mosquito

Nitrogen fixing bacteria make cc mbination with cells
of the roots of

(@) Pulses (b) Rice
(c) Wheal (d) Sugarcane

What happens when some charge is placed on a
soap bubble ?

(a) Iis radius increases
(b) Iis radius decreases
{c) The bubble collapses
(d) None of the above

Which of the following pairs is NOT correctly
matched ?

(a) Oxytocin Hormone

(b) Aspartame Synthetic sweetner
(c) Neoprene Speciatized rbber
(d) Rayan Modified starch

Which of the following substances is NO'1" a peotein ?
(a) Cotton

(b) Hair

(c) Spider silk

(d) Hoof
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18.
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21.

D

a long time !0

. . *old for .
A liquid remuins hot of ¢o < or gain of

thermas flask becausc therc is no los
heut by

(a) Conduction

(1) Convection and radianon

(¢) Both (a) and (b)

(d) None of the above

Which of the following glands in human body acts both
as a endacrine gland as wedl as an exocrine gland ?

(a) Adrenal gland
(¢} Pancreas

(b) Lacrimal gland
(d) Thyroid

Which one of the following materials conting
cibeium ?
(1) China clay

b d
(c) Gypsum @ e

(d} Talc

Which ing i
m:nchcdo'r?lc of the following is NOT correctly

(Substance)

Use
(a) Silver bromide an(iﬁ:ila)l
. . l |
(b) Silver iodide m::zr::r:“
(¢) Lithium bicarbonaie Ircalmenllof
. h !
(d) Milk of magnesio ;n‘l:cr?:mm

Tulsi plant has medicinat «
of the following e alues

(a) Inorganic Acid

(b) Organic Acid

(¢) Phenols and Flavonuids
(d) None of the abgve

due 1o the presence

! HY
Whatis true abou €cosyster: 7

(@) Primary consu

mers are
producer IeaSldepe"dc“l upon

(b) Primary CoNSumers g;¢ OUL-Nym by,
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The environment mo ified by human activities is
called

(a) Narural environment

(b) Anthropogenic envin nment
{ ) Urban environment

(d) Modem environment

Which of the following statementi . OT true ?

{a) Species diversity increases from equator
towards poles.

(b)Y Tropics harbour mor spec’e. than temperate
areas.

{¢) Greatest bindive. ity ocour: in Amaz neanrain |
forest.

(d Species diversity dect ases rom temperate
a eas towards poles.

Which one of the following is the well known
example of bioi. dicator of air pollution ?

(a) Lichens (b} Methvl mercury

(¢) Rose plant (d) SunAower

Which of the following is  OT correctly matched ?
(@) Desalination Sea water
(b) Revers osmosis Potable water
(¢) Denaturation Proteins

{d) Pasteurisation Tea

Which of the following is an example o herbicide ?
(a) Sodium chlorate

(b) Potassium permanganate

(c¢) Rleaching powder

(d) one of the above

The gas, which is emitted in he puddy fields and
InCreases the carth's temperature is

(a) Nitrogen (b) rbondio ‘de

{¢) Carbon monaxide (d) Methane

At hich of the following places is th Secretariat
of the International Solar Alliance (1.5.A.) located
at pre ent ?

(a) Pan (b) ew Delhi

() Gurugram (d) New York
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29.

30.

31

33.

The First

on solar energy is

nion cmitory of India to run 100 percent
(a) Andaman- icobar b lan igarh
{¢) Diu (d) Puitu-herry

Given below are fwo stitements. one 1 labelled a
A sertion (A) and he o her a. Reason (R).
ssertion (A) : There is a po. itive relation between
Human Development Index (HDI and Sustainable
vel pment Goals ( » G) ranking of fndian State.
Reason (R The underlying dimensionof S targ s
arecl ely relutedt education and health aspect.
Sclect 1he conrect answer from the cocde. given below
od
4 Both (A) and (R) are true and (R) is the
comrect e planation of (A
(b) Both (A)and (R aretruc but (R)1 n tthe
correc explan tion of +A)
(c) (A)istrue, but (R) is false
(d) (A)is alse, but (R)is true

Multidimensional pove y index includes :
i. Health
ii. ducation
tit. L'ving Standard
Select correct answer from the codes given below
Codes :

{a) Only i is correct
(c) Only iand ‘¥ re comrect (d i, ii and iii are correct

(b) Only ii and iii are correct

Arrange the follow'ng events in chronologic lordir
of their commenceme and select carrec  answef

from the codes given below
1. Wild Life (Protection) ¢t
1. Biclogical Diversity Act
11. Project Tiger
IV. Project Elephant
Codes :
(a) T, 0L ULTV
(c) I, HLIV, I

(b) 1, LIV, I
(d) N.OLLIV

nder the Ci il Registration System (! RS) it is
legatly mandatory to register birth and death events
within how m ny days in Indi ?
(a) 15 days (by 21 days
(c} 26 day (d) 30day
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38

Natjonal Family Health Sur ¢y (NFHS) — 5 d ¢s
n tinclude

(a) Highblood-p
() HIV Test

ure (b) Diabetes
(d) Rcgistration of death

The E vironmental Kuznet Curve (ERQC)

ha vs the relations ip een | :
and environmental las . Wlat is the “hape ol

Environ ental Kuznets Curve ?
(a) In crted ‘U’ shaped (h) Inverted 'V shaped
(c) Inverted L' shapcd (d) None o these

iven bolnw are b 'o statement , one is labelled a.
A sertion ( )yand the other as Reason (R}.

A sertion ( :Su tainable development is
impartant for w [ b ing of human society-
Rea on R) : Sustainable dc relopment 1s 2

kind of development thal m > § lhe-n_c.cds ql the
present without ¢ mpromising the ahility of fulure

generations o m  t their ow  needs.
Select the comect un. wer trom the codes given below:

odes :
(3) Both (A) and (R) arc true a d(R)i the
correct explanarion af (A)
b) Bot A)and R)aretrue but (R) i not the
carrect eaplan tion of A)
(A) is true, but (R} is false
(A) is false, bur (R) is true

{c}
1d)

hich of the following Direct 1 en¢ it Scheme
(DB ) ha - been recognized by the ‘Guinne s Bpok
of Warld Record” s the world’s largest Direct
Benefit Scheme ?
(a MGNREGA
{b) PAHAL
{c) NSAP
fdi None of the above

With reference to the  ational Food Security Act,

which of the following statements isfare correct ?

. twillcoverup o 75 percent rural and W percent
urban population.

between per capita GDP

Il pecial foc s on nutritional upport to women

and children.

1l. Eldest woman of above 18 years age will he
hcad o ou ehold.

Sele t the @ rect answer using the codes gi en
belaw

(a) land I arc correct  (b) [T and UI are corrcct

¢} L [fand Il are correct {d) onc of these
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39.

40.

41.

q2.

With reference to the measures of Tenancy Reform
in [ndia. which of the statements isfure correct ?

[. Regulation ol rent
2. Security of fenure
3. Confirment of ownership on tenants

Sclect the carrect answer using cades given below :
(a) | only

(b) 1and 2only

(¢) 2and 3only

(d) 1.2and 3

With referenee to the functions of Public Sector
in India. which of the following statements is/are
correct ?

[. To provide public utility resources
II. To build social and economic averhead capital
11l. To ensure talanced rcgional and sectoral growth
IV. Fo pursue egalitarian goals
Scieet the correct answer using the codes given
below ;
(a) L U and NI are correct
(b) II. HI and IV are correct
(c) LI W and IV are correct

(d) L 1tand IV arc correct

In the Suez canal region, the correct order of lakes
lying from North to South direction is
(a) Lake Timsah — Little Bitler Lake — Great
Bitter L ake — Lake Manzala
(&) Great Bitter Lake - Little Bitter Lake — Lake
Timsah — Lake Manzala
(¢} l.ake Manzalu - Great Bitter Lake - Liltle
Biter 1.ake - l.ake Timsah

(d) Lake Manzala — Lake Timsah — Great Bitter
Lake - Liutle Bitter Lake

Telegraphic Plateau is a part of
(a) North Atlantic Ridge

(b) South Atlantic Ridge

(c) Indian Occan Ridge

(d) None of these
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Match List = I with List — It and sclecct the correct
answer using the codes given below the lists :

List-1 List - 11
(Different name (Country)
of tropical cyclone)

A. VWilly-Willics 1. Philippines
B. Taifu 2. Austrilia
C. Baguio 3. Japan
D. Hurricanes 4. US.A.
Coadecs :

A B C D
(a) 3 4 2
Mb) 2 3 4
(c) 3 2
d 2 3 1 4

Which one of the following cities is NOT located on
the Trans-Sibetian ril route ?

(b) Omsk

(d) Chita

(a) Kazsn
(c) Sochi

Which of the following is NOT correcily matched 2

(\Wind) (Country)
(a) Santa Ana California
(b) Haboab Sudan
(c) Yamo Japan
(d) Mistral Auvstralia

Mutch List — 1 with List - II und select the correct
answer using thc codes given below the lists :

List - 1 List -1
(Coal Fields) (L.ocated)
A. Talchir 1. Damodar Valley
B. Karnapura 2. Son Valley
C. Singroli 3. Godavari Valley
D. Singreni 4. Mahanadi Valley
Codes :
A B D
@ 4 1 2 3
3 2 4
c) 2 4 3 1
«d) 12 4
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Which one ofthe following peaks is NOT lncated in
India ?

{a) Gurla Mandhata

(b) Namcha Barwa

(c) Kamet

(d) Nanga Parbat

Thewi nier rainscaisedby Westen disnabance in Nowth
Wesiem Pain of India grdually decreascy from

{a) East to West

(b) West 1o Easl

(¢) North 1o Soyth

(d) South 1o North

In which of the
¢ontains fresh
lower part ?

{a) Barak river

(b) Luni river

(€) Ghaggar river
(d) None of the zbove

following rivers. the HPPEr course
waterbut saline water flowing at the

*Moribund Delta®
fol!owmg Dclta ?
(a) Krishna-Godaw gy Delta
() Mahanadi pe|(a

(c) Bengal Delra

(d) Cauvery Delig

is a subdivision of which of t¢

Given pejow are

_ wo s:alcmcn(s.
Assertion (A) an

One is labej|ed as
d the other as R

€3son (R),

Reason (R) ;
Maharashlra o

(a) Both (A) and (R) are true and

explanation of (A) (R)is the cOmrec

Which i

o D;:: followlng IENOT conectly marched 9
Copper ¢ 11

(b) Dega; c

o Di::" Cvenye ColleC(or

Y . Cvenye Chief

<10

48.

49,

51

S2.

Illlilﬂlllllll

fafafer § 4 FR-u) Qm?ﬂ'{l%im

ThR?

(a) TS m=utm
(b) AT FTE@
(c) T

(d) 9m sda

m%mmmﬁq%ﬂﬁﬁw
LREE Sl SRt —,

(a)‘{iﬁqﬁaq?aw
(b) 97m & g A 3k
(c) I 4 fom A 3
(d) Tm } I A I

Frafefea 8 Q frg
TR m 3§
(@) T 7§
(b) o7&
(c) ¥ &
(d) Wﬁizﬁim

mmara?

T 90 1 § g
QR I T FaTR Pr

(a) Fm-nrreq =
(b) TE) 2y
©) & Iy

N A g

{eiﬁm(n)mnmtl

FHRA): IR Ry § 1 b @
TS B e R e geqree |

FROI(R) . # ity <t i aeel
% =nftg A

e,

(a) F3 (A) T F1n (R 2T § T
TR (M)A 7h e R

FR (AT T (R) 2 T § T T

RRRLAVE T R

TR (AR 2, fisg aon (R TR

ﬁznﬂﬁfaﬁ@ﬁw"‘j

(b)

(c)

() %3 (Ayrerm 2, g v (ry 5812
faqfafaaﬁaaaq-magafaawﬁ%?
() Tm T R g0

(b) Tow Taea st

(c) duny i o % 959
&) =g T THR &1 H
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54,
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56.

3.

Mateh is -] with Lj ¢ —
answer using the codes i
List -1

T and select the corpe -
ven below -

o List-1n
. Mulla Daud l. Chandayan
B. amod r Kavi 2. Ashiqa
o s
N Sornni:(l:l 3. Padmavaij K. th
- Amir Khusro 4. R i
- Rag v
i 2 Vibodh
A B C D
a1 3 2 4
B 1 2 4 2
@t 2 3 4

Wha among the following kings had given
patronage to T nsen before Akbar

(a) Raja Ramchandra Singh of Bhata
(b) Rajbahadur of Malwa

(¢) Uday Singh of © ewar

(d) Muzaftar Shah of Gujarat

M wh List = I with Li 1 - I and the correct
answer from the codes i en below the li ts:

List -1 Lit-1II
Ruling I nasties) ( apitals)
A. Pallava 1 Warangal
B. Pandya 2. Kanchi
C. Yadava 3, Madura
D. Kaktiya 4. Devagiri
Codes :

B C D
@ 2 1 4 3
by 2 3 4 1
¢t 2 3 4
d) 2 4 3 1

monuments in 2 chronological

Arrange the following £ o the codes given

order and select the cormeCt answer
below :

1. Rabia Daurani® Tomb. Aurangabad
Il. Shershah Suri's omb, asaram
I I. Humayun's Tomb, Delhi
IV. Awla Mosque, Jaunpur
Codes ;
(a) ILH, V.1l
(c) ILLILIV

() IV, ILIIL
(d) 1 Iv. 11 |

53

hER

56.

l"-] - I‘)

w161 e 117 maferd ffau M 415 feu v
q:;‘ﬁ ;:‘. Hel I ?11:.11] , |

Fjﬁ-] ’Fﬂ"
A. el 3% l ﬁ‘mm
Bm' 'a"fﬁ ; yaradt &1
:)u apfit g 4. T faay
e

A B
{(a)
(h}
(¢

(d)

frfefaa ™
& @ f7m ur ?
{a) W1 &1 T Teag fhe
(b) FTET—TrEERE—
(c) Wag = 37 fhe
(d) T90q  FATH AR

T - | Rgh - 12 gifera Dt 3k R F 4R
foo m & # 7@ 3™ A

O S A SO

-_—t — -
[ 25 I R DV PUY

3 frert st & Q@ AHET

A - Tt - 1
(arram) (Taurt)
A. T . IO
B. IR 2. ==
- 91ea 3.
D. ¥R a, ;Enﬁﬁ
%e:
A B C»
@ 2 | 3
) 2 3 1
© 1L 2 3
@ 2 4
Frfefian w2
,Wﬁmﬁa
ST 8T8 gy
L. Mg gt a5y :
[Hgﬂ'ﬂi\aﬂ-mﬂ’ &_‘%ﬁmmq
IV.WW
?E: lm
@ Li,v, g
©imyy 2Vl
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57

58.

59

0.

syst hich of the
With reference O Mangabdan systent. W

9
statsments 15/are gomeet !

1. Mansabdari sysiem W
the state, started by AKbar.

2. A Mansabdan was hereditary.
Select the correct answer using the

as the official nobility of

codes given

below :
Codes :

(a) donly (b Both 1 and 2
() 2only {d) Neither | nos 2

Match List = 1 with List - 11 and select the correct
answer from the cades given below the lists :

List-1 List - 11
A. Treaty of Allshabil 1. 1782
B. Treaty of Mangiore 21784
C. Treaty of Salbai 3. 1769
D. Treaty of Madras 4, 1765
Codes :

A B CD
@ 4 2 3 1
by 2 4 3
(c»y 4 2 3
ah 2 4 3

Asrange the following cvents in a chronological
order and select comect answer from the codes 81ven
below

1. Pouna Pact

IT Gandhi-Isvin Agreement

{15 Cripps Missinn
Iv. Civil Disobedience Mavement

Codes :

(a) v. 1, i

by H, 1V, I, M
@ 1v, B Lo
@ Lo, o

With reference to the Civit Adminisieation in 1908,

which of the statements 1sfarc vomect

l. Lord Cuszon decided 1o rearrange the
ptovincial boundarics.,

2. A new province wis constituted. called Gast
Bengal and Assam,

g:llgs :(he correct 2nswer using the codes given

(4) Vonly

(¢ 2only

(b) Both 1and 2
(d) Neither | ao; 2

-12.

57.

58.

9.

60.

q:mazmsnam%ziz’fﬁ,:ﬁp_mmwm.

l mrﬂwmmrmzhmaﬁam
o Frd oW 3 wrn

2 FAEaer B 9 7F Ul |

3 o T % @ 7@ I IR
Fe: .
(@) *&A | (by (323
(c) ¥ 2 L JELER P!
@ - | A& -1 A g Ffm ok fed
¥ Re my 7@ A ad IW gfe
qeft- 1 -1l
A YRR 1 aN [ 1782
B. ¥rel H wfa 2. 1784
C. arenr F aft 3. 1769
p. w8 A wf 4 1765
R:
A B CD
@ 4 2 3 |
b 2 4 3 |1
(c) 4 2 3
d 2 4 3
Prafifan Tensd # s § e
R 3 A3 Ry F@i Farweam P
1. @ &R
1. M- goa
. e famm
tv. wfara SEm Qe
L T8
a) 1v, I, 11, 1

(h) "- Iv. L "I
@ 1Iv. 1, 1 I
) "L i 1v., 1l

!
3RF T 1005 ¥ Gt &, ,ﬁ;_m,,m:;f
. O w3 I widta ol 7 FHieA

2 Td*ﬂﬁmmmq‘mmﬂmrﬂ‘
"R fem %2t 4 A wh 3w IR

@) 7w | by 1 3fe 289

(c) % 2 (d)nhlaﬂl"w
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6l.

63

65.

political aeadiocy 1o F
olittca ca

‘I)ndiau National‘g‘ngfels‘: on Mugl
(a) lowaharlal Nehry

(b) Rajgopalachari

(c) Chittaranjan Das

(d} V. P.Meaon

‘The Rise and Growth of Eg

. . 0NOMic Nationalicm ;
India’ was wiitien by Nationalism in

(a) Partha Sarthi Gup[a (bj S. Goml

(¢) B.R.Nanda (d) Bipin Chandra

In which of the fullowing “the provisions for the
protection and improvement of environment and
safeguarding of forests and wildlife’ are found in
the Cansutution of Indiu ?

(a) Only in the Directive Principles of State Policy
(b) Only in the Fundamental Duties

(c} Both (a)and (h)

(d) None of the above

With rcfercnec to Panchayets which of the

statemenls is/are correct ?

1. Fifty pescent seats shall be reserved for the
women of SC/ST categories.

2, Gram Sabha is 2 hody consisting of all pessons
living in the village.

3. There will be a Panchayat at intermediate
level.

Select the correct answer using the codes given

below :

Codes :
(a) | only (b) 2and3
(¢) Both land 2 (d) 3only

Mazdoor Kisan Shakti Sangathan (sts_),aSocial
Movement has been nssociuted with which of the

following in India ?

(a) RTE Act

(b) RTI Act

(¢) MGNREGA

(d) National Health Missson (NHM)

ok ; i sarmc does not
National Social Assistance Prog “Below Poverty

include the following scheme for
Line* households

(a) National Family Benefit Scheme

{b) Annapuma )
fc} Mahila Kisan Sashaktikaran Pariy®Jnd
(d) All of the above

6l.

62.

63.

65.

NJL-
2 3 A9
: a<m FE o .
g ot €8 T
r@ﬁ%ﬁ@m,mi'
(a}ﬂﬁﬁlﬁ‘\'ﬁ
(b) T
(c)ﬁﬂm-
@ @ 3T
ﬁww@mﬁ*mmw -
S -3 AEw A
f:gxmuq (b @Th::
© . 3K 7] (@) fafes
qata
ﬁﬁ\ﬂrﬂ*“ﬁm%w
e st ey @ g e 1 78T &
Ty T 9§ 7
(b)awal[aﬂﬂﬁi
(© ()3T (b) 3
(d) I%ra A / wd AW

o & wol A e A A F-w PR EA R/ ?

1. qam gfrm &R anfa/ar4qfda
F7-afa ) TRt F R amdiq 2 o

2 1 W O fram @ fEd iR & e @i
SILR SR

3. Woaad] &R W UF g9ga @ |

R Ry T T F 9P @ 7T 7 s ghw

¥

(a) TR !

(c) 17 230

(b) 29 3
{d) ¥a 3

T f58 I g gukea
.E ; \:n'(a'ﬁ ﬁqi%{’MKSU)m 'H]I.“Rﬂq.'.

@) IR, sy s
(b) A, s

(&) TR (MGNREGA,)

(@) W e R (g
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6l.

62.

63.

65.

Who prepared “C.R. Farmula™ to remove the
potitical deadlock between Muslim League and
Indian National Congress 2

(3) Juwaharlal Nehru

(b) Rajgopalachari

(c) Chiunaranjan Das

(d) V.P.Menon

“The Rise and Growth of Economic Nationalism in
India® was written by

(a) Partha Sanhi Gupta (b) S. Gopat
(c) B.R.Nanda (d) Bipin Chandra

In which of the following ‘the provisions for the
protection and improvement of environment and
safeguarting of forests and wildlifc’ are tound in
the Constitution of India ?

(a) Only in the Directive Principles of State Policy
(b) Only in the Fundamental Buties

(c) Both (a) and (b)

(d) None of the above

With reference to Panchayasts which of the

statements is/arc correct ?

1. Fifty percent seats shall be reserved for the
women of SC/ST categories.

2. Gram Sabha is a body consisting of all persons
living in the village.

3. There will be a Panchayat at inicimediate
level.

Select the correct answer using the cades given

below :

Codes :
(a) 1 only (b) 2and 3
(c) Both 1and 2 (d) 3only

Muzdoor Kisan Shakt Sungathan (MKSS), a Social
Movement has been associated with which of the
following in India ?

(a) RTE Act

(b) RTI Act

(c) MGNREGA

(d) Nationsl Health Mission (NHM)

National Social Assistance Programme does not
include the following scheme for ‘Below Poverty
Line* houscholds

() National Family Benefit Scheme
{b) Annapurna
(¢) Mahila Kisan Sashaktikaran Pariyojna

(d) All of the above

6l.

62,

63.

64.

05.

NIL-1 - 1Y

gfeem o wa e M wde & e
i nfdy & R a3 & fom - thoam,
whiar fme wm w ?

(a) JaETEE IE®

(b) TETIRAETD

(c) fAe@ T

d R, @ ¥

R g7 2 Wy 3 AT Anffaam @
ozar ¥ AuF ?

() SR Erff @ (b) TE. TS
(c) M. M. TQ () fafm =1
Arafafya 8 ] wa & wfaum & g gafam

AU @ qaUT AU 99 9 99 Algx N 1w
wayR 9 IR ¥ 7

(@) Fad T F N Ry o 3

(b) ¥ §@ Fere &

() {(2)3M (b) T

(d) I A A @

faEe & e A P A - wh R/8 7

1. 9Ty Y @R Jagfaa wfa/ sgfaa
- B vfeenst & fom amita g

2. T & OF TFr 2 Red me % wEm i

damaa
3. Rezadi TR W UF IR €@ |
A f e e 1 wm F §R FA I IR
L I
(a) ¥4 | (b) 232 3
(€ |aur 23 (d) ¥ 3

TR FRE MR WS (MKSS) T amias
SR, wra A B A | frg gafta & 7
(a) sIm.AL. afufan

(b) M.A.anf. nRfPan

(c) W3t (MGNREGA)

(d) < |rea B (NHM)

Tfe amifas TEIa wdF § T @ R
R FRr e st wifen 7@ R

@) T JRER & Frdmn

(b) 3r=qurt

(c) "k fama wofRasm wfdiaa

(d) [T |
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68.

Who said *India is o Quasi-Federal Stote” ?
(a) Lord Bryce (b) Tvor Jannigs
(c) H.J. Laski (d) K. C. Wheare

Arrange the following cvents in a chronological
order and sclect the comect answer from the cOdes
given below
1. Maharaja Hari Singh signed the Instrument of
Accession.
II. Constitution of India was enforced.
Il1. Accession 10 India ratified by the Sovereign
Constituent Assembly of Jammu and Kashmir,
IV. New Constitution of the State of Jamimu and
Kashmir camc into force.
Codes :
¢a) LILIv. 1L
() LILILIV

(b) BLIV.LII
() Iv. 1, 0.1

69. Given beluw are two statements. one is fabelled as

70.

71.

Assertion (A) and the other as Reason (R).
Assertion (A) : The Supreme Court of India has
exclusive jurisdiction regarding Constitutional
validity of Cential laws.

Reason (R) : Thc Supreme Count is the Guardian
of the Indian Constitution.

Sclect the correct answer from the codes given
below :

Codes :

(a) Both (A) and (R) arc true and (R) is the
correct explanation of (A)

Both (A) and (R) are true but (R) is nol the
correct explanation of (A)

(A) is true, but (R) is false

(A) is false, but (R) is true

®

(c)
(d)

Nztional Panchayzt; Raj Bay in India is celebrated on
(a) 26 January (b) 2 October
(c) 21 April (d) 24 April

Which of the following Article was inscried by
the 42" Constitution Amendment to provide for
pasticipation of workers in management ?

(a) Article 38 (b) Article 39A

(¢) Article 45 (d) Anicle 43A

What is the legal nature of the Preamble of the
Constitution ?

(a) Itis enforceable

{b) Itis not enforceable

(c) It may be enforced in special circ

{(d) None of the above umstances

67.

68.

69.

70.

71.

72.

[T

R g1, i O - FaeEE T g
(a) € msy (v e AR
© @A TR (@ T

frer Tz of ) TR A AR B oy
41 fon 8l # @ Wl 3w ghe

L T g o 3 facrd 1 T R o
II. WRa &1 §fQgr ] &30 |

11 - ) EAET HAA T3 o
# frern @ argica & |

[v. 307 7en S7dR TA i T4 §RYR an e,
%<

@@ LnLm.a
(¢) LILILIV

R Qo Re o § Rl TR TR (A ™
TR W) H (R) T T R )

FUF(A): ¥R B @ wiauiS dym & wa
§ W@ & @dre e B 373 wfEwhm L
TN (R) : ¥ TWA WRAT BIUR H W& R |
# fee e 7@ ¥ @ wh IWC Y

w.
(a)

() MLIV.LTI
(¢) IV.IL LT

(A) 7T (R) 3FT w8 & e (R) Twa (A) R

e =

(b) (AT (R)QA & & T (R) FA (A) &
T8 s T R

© (AT . R) e R

() (A) Tera 2. f () TE 2

Y@ § T S 1 g T ar R

(a) 263TQ R (b) 2 3T A

© 213 | (d) 24 3= RN

423 SR W T e g 35 T &
Mﬁmﬁwmaﬁm ?
(=) 33038 (b) ¥F=R 394

©) /B (@) srgedeasa

mﬁm"“““ﬁmw%?
(@) T8 T R ;o ¢

(d) I & ] ¥ 7

i
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73.

5.

76.

\hich of the following is coirect atwit the heading

of the Arucle 162 of the Constitution of India ? n.
(a) Fxecutive Power of State
(b) Conditions of Governor's Office
(c) Term of the Office of Governor
(d) Extension of Executive Power of Stale
Which of the following temples is also known as .
Khajuraho of Vidarbha ?
(a) Markandeshwar (b) Kailash
(c) Manudevi (d) Bhimushankar
Match List — I with List - II and select the correct 75.
answer using the codes given below the lists
List -1 List-1

(Typhoon/ (Most

Hurricane August- alfected country)

September 2019)

A. Dorian . Bahamas

B. Hagibis 2. China

C. Lekima 3. Jeju, South Korea

D. Mitag 4. Japan

Codes :

A B CD

@ 1 2 4 3

(k) 1 4 2

(¢ 4 2 3

d 3 4 2

In October, 2019 India announced to cstablish a 76.

High Commission in which African country ?
(a) Renin

(b) Gambia

(c) Guinia

{d) Sienal.eone

Acording toNIT1 Aayog whichof the followingstates "

i8 atthe top in the India Innovation Index 2019 ?
(@) Tamil Nadu (b) Maharashtra

(c) Haryana (d) Kamataka

-15-

NH.-1-19

yrdia #RR & 3T 162 % rdw ¥ vy
fRaisn-mad R

(@) T § wduferm afda

(b) T & Frten & R v

(c) =AU H) @Il

@) T A Fiafam nfd = Rrem

AiofaRes 3 A fEa ot ) e & ggm &
wu 8§ o w0 e @ 7
(a) THIZFT (b) *emn
() T3 (d) i
T - 1R g - 11 F 7 gafem AR i
g % 9 R g g2 @ w0 3w Fhe
qf -1 T -11
AEERE (gaifire wTRm 2
3Ter - fyan 2019)
A. 3T 1. WEWE
B. Rfadtw 2. ¥
C. afem 3, W9 R
D. frem 4. A
T2
A B COD
(a) 2 4 3
(b) 4 2 3
c) 4 2 3
d 3 4 2 1

IRRK, 2019 % wra A frw A &1 & T
I Eie w3 At H R 7

a) af

(b) mfn

(c) HiFm

(@) R faa

Hifa 3 F 3gEm, YRA & TEER EFE 2019
Hofefsr e e-ar v M g7

(a) afeATg (b) TENTR
(c) ¥ (d) +AfH
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73, \Whichof the following ;s COrrecy

of the Article 162 of the Congtitution of Indiq 2
' n’
(a) Exccutive Power of gya¢

(b) Canditions of Governgy's Office
(c) Term of the Office of Govemgr

(d) Extension of Execytive Power of Srate
a

74.  Which of the foIIOWing lemples j¢

. also
Khajuraho of Vidarbha ? Known us

(a) Markandeshwar
(c) Manudevi

(b) Kailash
(d) Bhimashynkar

715. Match List - 1 with Ljst

- 11 and se he
: ecti
answer using the codes correct

given below the lists :
List- 1

List < IT
(Typhoon/ (Most
Hurricane August. affecte
! d
September 2019) counte)
A. Donan . Bahamas
B. Hagibis 2. China
C. Lckima 3. Jeju, South Korea
D. Mitag 4. Japan
Codes :
A B CD
{a) 2 4 3
(b) 4 2 3
© 4 2 3 |
@ 3 4 2

76 In October, 2019 India announced (o establish a
High Commission in which African country ?

(a) Benin

(b) Gambia

(¢) Guinia

{d) Sierra Lcone

Acconling 1y NITI Aayog which of the fellowing Statcs
is at the top in the India Innovation Index 2019 ?

() Tami) Nadu (b) Mgharashtia

(¢) Haryana (d) Kamataka

)]

abnyt the heading

V—Y Yreheee  svess—————
NJL-1 =19
73. mzaﬁnriﬁmawﬁa?zm%m N
Aot dR-mad i

74.

75,

6.

-15

(a) T R Fdwfae nfen
(b) TS F FAT F R

(c) T ) qgrafy
d TR A wnfaw v % Aem
Frafofgs A A fag ofy 3
& fam am ¢ ek
(a) wrdodrar (b) ¥am
(c) T3 (d) i
r@dﬁ@-n%mm%aﬂz
@ﬁ%ft@m’!‘lﬁﬂﬂémtgﬁq
-1 @1
Gyaclyic ] @ifaw sofm am
3rTer - e 2019)
A. TR ). wgmm
B. Rfrdm 2. ¥R
C. afem 3. 99, 2Zhm e
D. fem 4. SN
FT:
A B COD
@ 1 2 4 3
(b) 4 2 3
© 4 2 3
d 3 4 2

3T, 20197 W@ 2 frn AR m § I
I ' FE R A R R 7
@ ¥R

(b) it
(c) =
(d) foeo fasis

77. i @M & FTER, yna § 4R gEwE 2019

% frfafian il 4 R-01 T ke 2 7

(a) af=ang (h) wEmY
(c) ¥ ) F=izm
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78.

79.

80.

81.

82.

83.

. 19 book”
The author of the Booker Prize Winnef .0

“Girl, Wemen, Other" is

(@) Marg ret Atwood (h) Elif Shafak |
ine Evatisto

(©) Salman Rushdic {d) Bemnadin® Evaris

in the first 79

Whom did P.V. Sindhy beat to 1T .
ever Gold Mcdal for India in Women s l:s
Badminton Championship in the final match

(b) Tai Tzu Ying
(¢) Nozomi @kuhara (d) None of these

(2) Carolina Marin

Which hydropower plint ‘s Bhutan was inaugurated 0.

cently by Indian Prime Minister Narendra Modi
() Chhukha Power Plant
(b) Dagachhu Power Plant
(¢} Kurichha Power Plant

(d) Mangdechhu Power Plant

"The book "Venushilpa' by Chitracharya Upendra 8.

Ma arathi relates to which of the following form of |
ans !
(a) Jewellery

(b) Painting
(¢) Bumboo art

(d) Marble carving

Which among the following was the first 100 percent
organic state in the world ?

(a) Queensland (Australia)

{b) Califo: nia (United Staies of America)
¢) Sikkim (India)

{d) Quebec (Canada)

Para athlete Deepa Malik, who has been awarded

Rajiv Gandhi Khel Ratng Award 2019, bej
the sport |

(a) Badminton
(c) Shot put

ongs 1o

(®) Di.cus thrgy,
(d) Weight lifing

United Nations Climate Action Summy
held at which of the following cities » 2019 wog |
(a) Pais ’

(b) Gecha
(c) Doha

@) New York

78.

qa WEA R 2019 961 . gy
¥ dww/AMfew T,

(@) TR IS (b T ey,
(¢) e WA () TR e
farrar afen T Asfies TFER & g

wl 1g feam & for .. fig
§ fras 'rn 7

{1} Fafern oA
(¢) Frandt gEm

I AT R, T G0 T @ ¥ g
oot g i % IR fn g
(a) GFD forga afdamn

(b) Ty fega afeiam

(c) Tiw Brga v

(d) wmew faga afamae

e =, wereh i g Jvfiee = ER
freafafea i afre Fen et ¢

(a) MW (b) Pasrd

(c) &g Fn (d) WM ) T

(b) T3 } fim
(d) TH B ¥ 7

feffga @ @ sh-m = P @
TooufeTa w7

(a) Ffacte (s faan)
) S (G 1= k)

(c) TafRen (vwra)

(d) FF (FATE)

0 ez A R, i 20197 el
B T GO R 2, P e 3 A
(a) 4hiem (b) Remm

(c) e &= (d) 7R

TR TR, Fe@1y Friad g 2019%
Fr o 8 | g e 3 e !

(a) 3w (b) I
(c) g (d) TH
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86.

87.

B8.

89.

([t

Use of polished rice in human die, causes th
. . ¢
ollowing discase

(a) Beriben
{c) Nightblindness

() Goitre
{d) Colour blindness

Which of the followin

matched ? B pairs is NeT carrectly
(Vitamin) (R'ch! ource)

(a) Vitamin B Rice bran

(b) Vitamin B, Cod-liver il

(c) Vitamin E Wheat germ qi

(d) Vitamin K Alfalfa

Given below are two statement , one labelled a.

Assertion (A) and the other as Reason (R).

Assertion (A) : Most of the vitamins are not

synthesised in human body,

Reasan (R) : Human organ synthesise only

essential m’'cronutrien

Select the correct answer from the codes given

below :

Cod :

(2) Both (A)and (R) are true and (R) s the
correct explanation of (A)

{b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

{c) (A)i true, but (R)is false

(d) (A)is false but (R) is true

Match List = [ with List — II and select th carrect
answer from the cedes piven below the li ts ¢

Lit-1I List - If
A. Kevlar L. Explosive
B. Taxol 2. Synthetic fibre

C. Zinc Phosphide
D. Nitrocellulose

3. Anticanoer drug
4. Rodenticide

Codes :

A B C D
@ 2 4 3 1
) 2 3 4 |
) 4 3 1 2
d 3 2 4

A ample of any of the following ~ubstances
disappears afier sometime when exposed toair like
camphor, naphthalene or dry ice. This phenomenon
is called

(3) Sublimation
(c) Diffusion

(b) Evaporation
(d) Radiation

8s.

86.

87.

88.

89.
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90.

91.

92.

93.

94.

95.

The phenamenon used in ovptical fibre for 90.

transmission of light energy is
(2) Total intemal refiection
(b) Diffractian

(c) Scattering

(d) Refraction

Which of the following statements aboul 91,

enzymes is/are correct ?

l. They are biocatalysts.

2. They perform their action on the site where
they are produced.

Select the correct answer from the codes given

below :

Codes ¢

(a) lonly (b) 2only

(c) Both 1 and2 (d) Ncither | nor 2

Mother's milk provides almost complete diet to the 92
new-born, but it lacks the following

(a) lion (b) Calcium

(c) Magnesium (d) Potassinm

Arrange the following substances in chronological 93.

order of their first synthesis in lab ;

1. Black gold

2. Fullerene

3. Graphcne

4. Kevlar

Sclect correct answer from the codes given below :
Codes :
(a1 2 4
(b) 4 2 1
)2 4 !
d 4 1 3

N oW ow oW

Bibliometry is 94,

(a) Function of Library Network

(b) Information Managemenl Service
(c) Information Managcment Tool
(d) Library Service

Which one of the following is associated with 0s.
‘Albedo’ ?

(a) Transmitting power

(b) Absorhing power

(c) Emssive power

(d) Reflccting power

-18-

Y

Hlllillllllllllll!llll

T S5 o SR WA 41 HA Faifn, g
¥ argwam g R omn R

(2) T el quada

ORLELE

(c) wia

(d) AR

e & wel A PrfofEa FuAl § A dhy

" 8/E 7
L A= £
2. A9 3 'R w N T H=A o g

Jeqifea ¥ &

A2 Ry zu 72 A 98 3| AT :

Fe:

(a) FaW (b) ¥ 2

© !3R23At @ FMmi13kad
of T 0 T = T L IEN T3 w8, R
i AcfiRye = anm B R

(a) o (h) &fnzw

(cy #Afram (d) Wl
Areafafgs ugel &) 34 ygel A Rarmviar §
FYAITN F FeHRAn sqafen /R

1. &% Tes

2. gt

3 MR

4. FFEN

R Ry M =z 4} ¥ Im yfie

72 :

aal 2 3 4

4 2 3 |
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96.

97.

98.

99.

With reference to the Deep Carbon Obscrvatory (DCO)
which of the following statemeits is/are comect ?

1. Itis Global Research Programme to outreach
role of carbon on earth,

2. 1t conducts field observations of deep
microbial ecosystem.

Select the correct answer using the codes given

below :

Codes :

(a) 1 only

(c) Both 1 and 2

(b) 2 only .
(d) Neither 1 nor2

Which of the following is NOT correctly matched ?
(a) Cartagena Protocol Biosafety

(b) Stackholm Convention Persistent

organic pollutant
Ozone layer

Save water

(c) Montreal Protocol
(d) KyotoPratocol

Given below are two statements, one is labelled as

Assertion (A) and the ether as Reason (R).

Asscrtion (A) : Maximum number of the species

of butterflies are found in tropical countries.

Reason (R) : Butterflies can not tolerate low

temperatures.

Select the correct answer using the codes given

below :

Codes :

(@) Both (A) and (R) are true and (R) is the correct
explanation of (A)

(b) Both(A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A)is true but (R) is false

(d) (A)is false but (R)is true

The amount of energy during transfer from one
tropic level to another in an ¢cosystem

(@) Increases

(b) Decreases

(c) Remains constant

(d) May increase or decrease

“_lhichof the following is associated with biological
Ritrogen fixation ?
(8) Red algae

(¢) Green algae

(b) Brown algae
(d) Blue-green algae

10.
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96, med A quwen (¥.W.3N.) & way it fa

97.

98.

. 99.

100.
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101.

102.

103.

104.

10s.

Smog is essentially caused by the atmospheric
presence of

(a) Oxygen and ozonc

(b) Ozone and nitrogen

(c) Oxygen and nitrogen

(d) Oxide of nitrogen and sulphur

The *Global - 500° Award is given for rare
achievement in which of the following fields ?

(2) Gene preservation
(b) Enviranment conservation
(c) Population control
(d) Pollution control

Black-hole is

(2) aflight iecorder in aeroplanc
(b) a spot un the sun

(c) aplace in Antarctica

(d) = collapsed star

The mosi biodiversity rich arcain India is
(b) Trans Himalayas
(d) Central India

(a) Gangctic plain
(c) Westem Ghats

Which of the following is a Nodal Institution for
implementation of Sustainable Development Goals
in India ?

(a) Planning Commission

(b) Disinvestment Commission

(c) NITI Aayog

(d) Finance Commission

Arrange the following Committees formed for small
scale sector in a chronological order and select the
correct answer from the codes given below :

I. Nayak Committee
II. Abid Hussain Committee
III. S8.S. Kohli Committee
IV. Karve Committee
Codes :
(a) LILIV, I
() Iv,0I, 11

(b) IILIL I, IV
(d) LILmm, v

1ol

102.

103.

104,

105

106.

B

UL L HIGTEHY
Yl (=) s w9 & agdsa A Gt
# AR & wrm B
(a) JTRRTA awm N
(b) IV Tl AR
(¢) FTHIA dur 1gglad
(d) KA qen wewt & ey
Prfifea 24 4 A Reed gt S & R
(a) R gy
(b) vatam dww
(c) SHen Fagsm
(d) YW BgFw
wam-faa g &
(a) BT H IZA w ANRwH
(b) T TTT wwn
(c) JiaféF H vw IR
(d) famz m =m
Wi # wal wive Safafava dum 87 2
(@ TmE AR (b) g e
(c) qfFaf} ure (d) 7e3 vE

Fefafiar & @ F-w1 W@ § gaq faem wi
&= & fo o= e wwn d o

(a) T mAm

(b) fafdw amgm

(c) Hifa 3mam

(d) fam amam

g 30 & e ) P afifvdl @ s
ﬁmﬁ%ﬁﬁmmﬁmm@ﬁmm
ERLE

1. Tq®

1. Wz T3 s

1. T, . e iy

IV. %1

R

(@) LILIV, I
(©) IV, IL LI

() 1L 1L 1,1V
(d) LI, L v
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107-

1G8.

110.

Match US} — I with List = 1T and select the correct
answer using the codes given below the lists ;

List-1 List- 11

(pmgramme) (Launch Year)

A, WNational Programmc 1. 1975
for Control of BRlindness

. Inmegrated Child Development 2. 1976
Scheme

C. National Leprosy 3. 2005
Esadication Programme

p. National Rural Health Mission 4 1983

Codes :
A B CD

@t 2 3 4

m2 4 1 3

{c) 2 | 4 3

@h4 3 2

Given below are two statements, one is labelled as

Asscition (A) and the other as Reason (R).

Assertion (A) : The labour force participation rate

falling sharply in the recent years for females in

India.

Reason (R) : The decline in labour forcc

participation rate is due to the improved family

incame and increase in education.

Sclect the correct answer from codes given below :

Codes :

(a) Both (A) und (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
corvect explanation of (A)

() (A)is truc. but (R) is false

(d) (A)is false, but (R) is true

The Dependency Ratio in India is declining
because

(a) Population of 0-14 yearsis relatively high

(b) Population of 60 years and above is relatively
high

(c) Population of 15-59 years is rclatively high

(d) Papulation of 0-14 years and 60 years end
ahave together are relatively high

Which of the fol lowing Sustainable Development Goal
(SDG) will warget to water availability for all and its
permanent manggement upta 2030 in India ?

(@) SDG-6

(b) SDG -7

{¢) SDG -8

(4 SDG-9

107.

108.

109.

110.
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g - 1R g - 118 gakm fife o i &
2 Ry M 72 A 70 T™M IR
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(FTdFT) (Tmw ad)
A ¥ Fraam ¥q 7B FdwED 1. 1975
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1!ﬁz:,\ B C D
@@1! 2 3 4
(b) 2 4 I3
(c) 2 1 4 3
@4 3 2 |
2 A 2@ Ry m & Rl & R WA (A) T
7R ) FO (R) FE T )
FIT (A) : €19 & aq] & wia ° wfenad F g
7a R weiigd) it 0 A A ] fivrae smt #
FoT (R) : Wit o ¥ gaw @@ fen A gfe
% 50 AW 50 wied QT P s &
1 e 2l 4 ? 90 IW W wET A

E T )

{a} (A)?Y1 (R) Qi 8¢ § @ (R)FUR (A)H
w8 = @ _

b) (A) 3 (R) S 7@ & T (R)FA (A)
w8 e 7 R

() (A)FA R, g (R)7ea R

{d) (A)7em B, W (R)&A R

W@ 7 Ry 3@ (Dependency Ratio) 2 @
t i

(a) 01434 N FEE FEda A= 2

(b) 60T v AT R FAFE FwTE T &
(©) 15.59 T 6 EEn FRETw Afts R

(d) 0-1439 3l soad 7 T ) TFEEN
R it

Aofifisa 1 @ ¥7- waq fasm |8 (SDG)
@ B 2030 @ ™ & faw o ) Ieaem
AR ES @) 39l w) T =M 7

() @B A-6

) W& H-7

(c) WéH_g

(4 wW&A-9



N

gl

112

-V

w’ho has’fro
Grov"

he concept of ‘Limit to
poundcd {

mbet of persons who remaincd uncmploycd

fo'f,,",‘:‘ajor part of the year is called

(a) Usual status unemployment
(b) Daily status unemployment
(c) Weekly status unemployment
(d) None of the above

With reference 10 the Corposate Social Respansibility
(CSRY), which ol the statements is/are correct ?

1. Companies Act 2014, introduces mandatory
CSR.
2. Companies covered under this will have to

spend atleast one percent of their annual
net-profit in the activities under CSR.

Select the correct answer using the codes given
below @

(a) 1 Only

{c) Both [ and 2

(h) 2 Only
(d) Neither | nor 2

114. physical Quality of Life Index (PQLI) is
developed by
(a) Morris D. Marris (b) UNDP
(c) Mehbub-ul-Haq (d) None of the above

[15. Whatisihe India's rank in the Global Hunger Index

(GH1) in 2017 2

(a) 100 (b) 101

(c) 104 @) los*

116.  Match List - 1 with List <]
aM\f’r ;mtl\g the codes givcn‘g:l;i\lfcfl:ct?;;orrw
ist ~ .
: List -

(Vegetauqn Type) (Rtglo:ll)

g. :Aaqb::: 1. Californjs

. Fyn 2. Mediterranean

Sea Ceagta

. Region

C. Chaparra| i

D. Matorral 2 g(l;ult | Affca
Codes . e

A B C

(@ 2 3 | 2

® 4 3 5 ]

© 3 4 1 ,
4 2 3 1

11

112,

113.

114.

|15.

116.

ARy

W&zﬁ‘am,ﬁ ATAYTN mlmﬁqﬁ

g Re T a7
() mmm
(1) '{3@'

@) w3 21

3 sfgwa R § FTIM N sy
& wen A F@ A e

(a) W (R Adamd

b) 2 R demd

() s fufd St
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e & AfRs ;
i 0w & ;{@tﬁm (. =, ad.) 2017

(a) 100t (b) 1014l

©) 1043 @) 1053

TR -1R TR - 13 gafrs Hfe wn gl ¢
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C. 3. T s
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17, Match List — I with Lig

118

9.

answer us'ng the codeg

BN b low the fie .
List -1 et

List -
(Country) (Capi(::n
A. zbekistan 1 ashkent
B. Tajikistan 2. Dushanbe
C. Kyrgyz tan 3. Bishkek
D. Turkmenistan 4. Ashgabar
Codes :
A B C D
(2) 2 4
» 2 3
(c) 3 4 2
1 4 3
Match List = I with Li t - IT and ¢ elect the correct
answer using the codes given below the lists ¢
List T List - II
(Natural Vegctation) (Region)
A. Epiphytes 1. Mediterranean
B. Acacia 2. Equatorial
C. Baobab 3. Sahara
D. Cedars 4. Savanna
Codes :
A B CD
@ 2 3 4 1
) 2 3 1 4
c) 2 4 3
d 2 4 3
Which of the foll wing is NOT correctly matched ?
(Tribe) (Place)
(z) Pygmy Congo basi?
{b Angami agaland
(¢c) Ainu Japan
Sudan

{d) Khirghiz

<11
Iand select the Corregt

- U AT

NIL-1-19

N 1RGN -1 G Hifony e o L, 4y fou

qfr -1 qft- 11
@& ()
A ITAfF@m 1. e
B. wfafeems 2. TR
C. f&ffem 3. fas
D THERRER 4. JTTEm
G 4
A B C D
@y L 2 3 4
() 1 2 4
©) 3 4
@ 1 4 2 3

T 195 - [ G S e o

T A FE IR IR

g -1 Heft -1
(s It (8m)
A. SRR Tl 1. g
B. agq 2. e
C. daa 3. wEw
D. T 4. FEA
!

A B CD
(@ 2 3 4 1
b 2 3 4
© 2 4 3
(d 2 4 1 3

Pt o & H-m v gifen T R 7

i) i
(a) frt A
by 3 AMRITS
) Q e
(d) R e
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120. Given below are!l wostateme

121,

122,

123.

124,

125.

nls, one i labellcd as

s Reasor (R)-

Ascertion (A) and tieother a becom¢e the

Assertion (A) © |ﬂdia",0“a" has
Mulitary bases of many big P‘“"""’,'olmcal
. is strong 8€0-

gce::f?t: |( rin2 ;t{dgrr&:an ang adjacent .c(,unmcs- .

Select t hecomect answer from thecodes given below :

Codes : ) .

(a) Both (A) and (R) are trucand (R) is the correct
explanation of (A)

(b) Both(A)and (R)ate tue, but(R) is not thecorrect
explanation of (A)

(¢) (A)is truc, but (R) is falsc

(d) (A) is false, but (R) is true

Which onc of the following is the corect sequence of
the hills of Centrat India located from \West to East ?
(a) Maikal, Satpura. Mahadeo and Chhotanagpus
(b) Satpura, Mahadeo, Maikal and Chhotanagpur
{c) Maikal. Mahadco. Saipura and Chhotanagpur
(d) Satpura, Mahadeo, Chhotanagpur and Maikal

Given below are two statements. one is labelled as

Assertion (A) and the other as Reason (R).

Assertion (A) : The highest concentration of

Seismic zones lies in Himatayan region in India

Reason (R) : There are many longitudinal thrust

zones in Himalayas.

Codes :

(a) Both (A) and (R) are true und (R) is the correct
explanation of (A)

(b) Both (A) and (R) are true. but (R) is not the
correct explanation of (A)

(c) (A)is true, but (R) is false

(d) (A)is false, but (R) is true

*Imphal Basin' surrounded by Manipur hills is a
fine example of
(a) Lacusirine plain
(c) Glacial plain

(b) Loess plain
(d) Alluvial plain

Which of the following rivers s f: .
valley drainage ? g amous for its faul

(3) Chambal
(c) Gandak

(b) Damodar
d) Ramaganga

Which ane of the followi L
as "Land of Big Gnm::'ﬂg natural regions s known

(@) Tempcrat eGrassland

(b) Tropical Monsoon Region
(c) Hot Desen Region

(d) Tropical Savanna Region

-24-

120.

121.

122.

123.

124.

125.
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With refcrcnct; to the Himg an
{he ﬂuteménts 1s/are cerpecy 9 Fange. which of
1. The sedimentary rocks o -

Himalayas were fossi] less 1ater
2. Marine livings fossils grc¢ foung ;

sedimentary rocks of lesser H‘;mlrll the

i PR alayas

3. Remains ofhur.nan civilization

outer or Shivalik Ilimalayag are foung iy,
Sclect the correct apswer
below :
Codeos :
{a) | and 2only

() !and 3 only

usin
g the Codes giVen

(b) 2and3 only
(d) 1.2and3 ate correcy

Given below are two state

Asscrtion (A) and the mhern;:néi‘a:’:: (‘;bcllcd as
Assertion (A) : Akbar, like Shershah )'t'
rcgulate the currency of the state, » tned o
Reason (R) : As in Shershah’s curtency. the chicf
copper Coin of Akbar’s time was the Dam.

Selact the cOnect answer from the codes given belaw :

Codes :

(@) Both (A)and (R) are tiue and (R) is the correct
explanation of (A)

(b) Doth(A)and (R)are tiue, but (R) is not the correct
explanation of (A)

(¢) (A)is true, but (R) is false

td) (A)is falsc, but (R) is true

Amange the following battles in chronological order
and select the cormect answer from the codes given

helow :

1. Battle of Sarnal

II. Battle of Bilgram
lll. Battle of Dharmat
IV. Battle of Jajau
Codes :
@) 1. . I, 1v

€ I n LIV

(by 1. 1L V. !
(@ m. 1Y

f the following
With reference to Hath Yog. which 0

. o]
Statcinent is/are conrect ¢

L. Hath Yoy was practiced b)ll o adopl

2. Hath Yog technique was 413
Sufis. weing the codes &

Select the correct answerd &

bClOw :

Codes :

() 1 only

) 26nly

(©) Both ] and 2

Na thpan(hls.
¢d by the

() Natolene 1 ame ? a5
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126. mmﬁmtdﬁuﬁ.ﬁqﬁ&nﬁﬁ
IR-T o wh 3/ 7
l. TR rrer ) wagn 92713 Farm @1 2 )
2. 71g e K Waen TG § 594 Fa-aqa
¥ farm e € I
3. arw femram @ Rrarfe R € e wam
& Jraim g 2 1

N Re gu g 9 @ 7@ 3w I
e

@ FFA M2 (b FA2 5N
() %A1 M3 (d) 1.2 =@

TR A w2 oy & IR & A Fm (A) alt
TR ) F (R)F T R | _
Ty (A) : AT TR A AR T & faFR &
T & Rafe F0 ¥ v R
FROT(R) : AR 6 [31 vefa & TR, I *
T w1 AW Tm o |

219 P gl 72 o 3 1 v P

§2:

(a) A (A) 3 FO(R) AT ®A & 7o wwwr
(R) T (A)H &) Seen R

(b) FA(A) M T (R)IA FQ & Tg FUI(R)
F (A) Y T = T R

(c) TR (A) WA ?, 767 =1 (R) TeiG &

(d) ¥ (A)TER B, Tg TR (R) %8 R

128. Py=fefsa gl = % =yafeaa fifte
e Tt g .
I. g9t % g2
1. faem = g
0. wwa 1 g
IV. WS & §Q

127,

) IL L, M, v
() L IL 1, IV

(b) 1, 11, 1V, |
(d) I, L IL 1V

129 & A F ad # froferfga & Fa-m PR
ad /¥ 7
1. & A IreR@ g A F |
2. %3 M frm N gf w@ T o s
4 fo o 7 % @ 7@ I e
¥
(a) ¥4
) FA2
(© 1328+
(@ I 13dmIR2
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130.

130

132.

133.

134.

Whichane ofihe follow ing is NOT the characteristics
ol *Iqun Systemy' ?

(@) Iqta was g revenuc collection system

(®) Siyasatnama was the sousce of information
for Iqta System

(€) Revenue from lq1a was directly deposited in
Sultan’s yccoyns

(d) Muqti was supported to maintain trops out of
the revenue collected from Iqta

Which of (e following is NOT correctly matched ?
(Books) (Wrilers)

(a) Tabugat-i- Nagiri Minhaj-us-Siraj- Juzjani

(b) Tankh.i-Firgzshahi Shams-i.Sraj-Afif

(c) Tughlagngma Ibn Batuna

(d) Humayunnama Gulbadan Begam

In which year was the "Native Maniage Act” passed ?
(a) 1870 (b) 1872
(c) 1874 (d) 1876

Match List ~ [ with List - 11 and selcet the correct
answer using the codcs givenbelow the ljsts :

List~| List - I1
(Movement) (Year)
A. Pabna 1. 1855-56
B. Eka 2. 1873-85
C. Sanihal 3. 1922
D. Tana Bhagat 4. 1914

Codcs :

A B C D
@@ 1! 2 4 3
by 2 3 |1 4
() 3 1 4 2
d 4 3 2

Which of the following is NOT comectly matched 2
(Event) (Year)

(3) Indian Navy Act 1927

(b) Civil Disobedience Movement 1930

(¢) Second Round Table Conference 1931

(d) Thc Communal Award 1933

130. frafafes 3§ @ w-d @ fAfrea @

A f iR 7

(a) T9N WH TOrET UHiAG w6 sae o

(b) Reraraeman gam Eﬁﬂl'ﬂﬁqﬂiﬁmﬂu}am

(¢) T A UHfd U dlul gedd & @ i
Elail

(d) gt A v F owhia oo 8 A @l
vgd 4

Aefiiea 3§ @ w-m o8 @ERETAR ?

() ETT)
(2) FFT-T-TRO  frER-I9-Rara
-TEAH

(b) ThG-y-Rediasrd) - v - o

(d) T Am

ﬁ&uﬂﬁam-ﬁwaémftﬁﬁmmum ?

(a) 1870 (b) 1872

(c) 1874 (d) 1876
IR - Ay AR 3k

?ﬁﬁqg%m%= o
qeht _ | -1
(HTerer) Iﬁ(:é)

A 9EE 1. 1855.56

B. 2. 1873.85

C. ¥Um 3. 1922

D. a9 vy 4. 1914

P
A CobD

@1 2 4

(b) 2 4

() 3

d a4 3

ﬁq%haﬁﬁm-mnﬁgaﬁaqﬁg 2
(&) )
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136

13,

0

Armange the following cvents in o chronological
order and select the correct answer from the codes

given bclow :
I. Appoiniment of Srmon Commission
1. Jallianwala Bagh Massacre

(1I. Mohatma Gandhi's Dandi March

v Death of Ferozshah Mehta

Codes :

) 1v, 1L .
@ LI ave
() i, I IV,
@ v, HLIL

The trial of the Officers of the I.N.A. was held in

(a) Red Fort, Dethe  (b) Gwalior Fart

(c) Amcr Fourt, Jaipur (d) Agra Font

G:ven below arc two statements, one is labelled as
Assertion (A) and the other as Reason (R)
Assertion (A) : The Asiatic Socicty of Bengal
was established in the period of Warren
Hastings and he modestly declined the offer of
Presidentship of that learmed body in favour of
Sir William Jones.

Reason (R) : Warren Hastings was himself a
@rcat scholar and an ardent orientalist who used
lo encourage the study of Sanskrit, Persian aad
Arabic.

Select the comrect answer from the codes given bedow :

Codes ;
() Both (A) and (R) arc true and (R) is the cotrect

cxplanation of (A)

®) Both(A) and (R) are true. but (R) is not the correct
cxpla nation of (A)

€) (A) is true, but (R) is false

(@) (A)1s false, but (R) is true

With reference to the National Calendur, which of

" Statements 18/are coirect ?
- The National Calendar of India 1s based on

2 'kram Era.
- The Nanonal Calendar is adopted from

Sauary 26, 1950. ’
buo“.' the comrect answer using the codes given

(b) 2only

@) oy
y
(d) Neither | nor 2

(c) BO"I ] and 2

(35

137.

138
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2;* é’:ﬂgaﬂz IR i w:afiua G
| amA anam 6 Agfa

1. Afrataren am g sz

111 g wifl ) oA g

1v. Retamz g R g

e

(a) 1V, Il I, m
(b) I, i Iv, Il
() M. M. 1V,

@ I1v, m, i

I.27.2. & el ot g T T W
(3) A e, R (b) mrfym 18 &
(c) IM G, TR T (d) 3R B &

1 R w7 R me & B T 7 Fu=F (A) T
Za W O (R) FW TR

TG (A) : ¥ ) RraifRE aaed € ' ana
U & wa § gt o) st 3@ w Rfqww I &
o 3 3% fAga ven ) Fas | @R IEE
= e

®WOT (R) : TRA AR @4 TF IPR fazm an
e fwy &1 YeR wodE o) N F5Fa, T ¥
F F T3 B Tewrea w@rar

W:
(a) (A) 3 (R) 1 ot § ot (R)Fed (A)R

att =re &
(b) (A) (k) D1 wll &, g (R) +w (A)

# 76 =ren T 2
(c) (A) a8, =g (R) nera #
) (A)mea R, &g (R) vt @
a<ia Gam & awu F @H-wi/ v 70 /€
1. ¥wdtg wgta 99 fawm daq W amafa R
2. I g9 A =& 26, 1950 R TGN TRy R

A e ' 2 i agram ] ¥ 3w A :
(a) ¥ ) (b) Tas 2
(c) 13 2gAt @ T 13RI 2
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139,

140.

141.

142.

143.

144.

In which year was accounting scparated from
auditing and Comptroller and Auditor Gencral's

task only remained confincd (0 audiiing the
Government Accounts ?

(a) 1975 (b) 1977
(©) 1976 (d) 1981

Who apposed Planned Development in India ?
() Mahatma Gandhi (b) Jawaharlal Nehru
(c) Indira Gandhi  (d) Rajiv Gandhi

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : Article 30 of the Constitution of
India does not define the term *minorities’.

Reason (R) : The Constitution recognises only
linguistic and rcligious minorities.

Sclect the cormrect answer from the codes given below
Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
corvect explanation of (A)

(c) (A) is true, but (R) is false
(d) (A)is false, but (R) is true

With reference to the federal system in India. which

of the statements is/are correct 7

1. States have no right to sacede from the Union
under the Constitution of India.

2. Just advocacy of secession wiil have the
protection of freedom of expression,

Select the correct answer from the codes given

below :

(a) 1 only

(c) Both |l and 2

(b) 2 only
(d) Neither 1 nor 2

Which of the following is NOT correctly matched ?
(a) Public Health and Sanitation State List

(b) Census Union List
(c) Allocation of seats Second
in the Council of States Schedule
(d) Anti-Defection Tenth Schedule

How many ilems are therein the 11 Schedule of
the Constitution of India ?

() 22 (b) 24
(©) 29 (@ 32

28-

139.

140.

141.

142,

143.

144,

VWU g

fra ad & qEEfin ® FMR (D@ gfu)
e frm T qun ATEE TE TR o 5
T Fa9 g d@ a Him © ™
(a) 1975 (b) 1977

(¢) 1976 (d) 1981

i 3§ Pt freems @1 fata fed e 2
(a) TRt i (b) TETEETS AgE
(c) 3R (d) i e

R Q wm Ry e A T | FE (AR
TR F FOW(R) FE T R |

T (A) : Wl wfaum &1 37333 30 -IFvER
- 22 &) sfonfye T@ Fa@ R |

W1 (R): Gfur ¥Faa vmard adk wiflfe srevm
af it ar=rm W w=@ R |

1 Ry m §9 # & 7@ 3w FfAT

E ¥

@) (A)3MN(R)ZHT wd & M (R)FTI(A) N
a8 =Em 2

() (A)3M(R) 3 ¥A & T (R) FGA (A) P
W& s 7 R

() (A)WA R f&q (R) Tera R

(d) (A) Tera 2. fRg (R)FA @

ey gaters JFem & wWeM 1 Pafofya §

-a R A /e

1. wRdr SRR ¥ Fata T S §a A Iem
B W R T &

2. ¥N B3 A TR TR FQ 97 IR A
WA B g R |

2 e g2 1 4 @ 7@ 3w = T8 S
@ 9 ) (b) @ 2
(© 1322

(d) aM 13k &2

Refafea § @ F3-m wd gifva vd & -

(2) THIRF Qg @ magm T g
(b) I

(c) T=Q & | g w1 3

c : S R FERd
(d) TTeZq faig ol s
M 3 HRR A 11 s # R v § 2
(c) 29 d) 32
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it

rence L0 Prime Minister's O, (FMO
fthe alements isfare coppeq ? !

LI came into existence in 1977,

With refe

s headed by the Cabinet Secretary,

o e comrect answer from the codes given below -

Codes
o Only 2 (b) Both I ang 2
¢ Onlyl () Neither | nor 2

The provi ions of the sixth  chedule of Indian

(Co stitetion are applicable in which of the

jo) owing slates ?
{b) Sikkim
(d) Allof the above

() Tripura
(c) Nagaland

OT correctly matched ? |
“To have the
bedy of’
‘We command’
‘To be enified
‘By what authority

ich of the following is
{(a) Habea- corpus

) Mandamus
{ ) Prohibition
{d) Quo-warranto

. The Money Bill is defined in which Article of the

Constitution of India ?
(by Artict 110
(d)y .ricle 112

(a) Article 109
¢) Article 111

ated by P.M. fodi

Cross border oil pipelinc inaugu® h of the ollowing

in September 2019 connec whic
cities ?

fa) Motihari and Amlekhganj
(b) Darbhanga and Amlekhganj
(€ M u ari and Kathmandu
d) . one of these

. ite” by the
. 1 é S“e
Jaipur was listed a- ‘World He '%(cc' inits 43 |

UNESC® *World Heritage Comm!
Session held in the €ity

(a) Baku (Azerbaizan)

) Bi h.ek (Kyrgyzstan)

1©) Istanbul (Turkey)

'd) Marake h (Morocco)

l 5.

146

147.

148.

148.
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WY wafag (H.m.A.) & gy
fraffes A @ sH-a1 A AR /T 7

1. g 1977 & afea= o aman |

2. @ TuA e wfea dm

2 feg my g2 @ | I gAY

G I

(a) $Iq2 (b) 132 2
(c) FaA | @It Aad?2

yRfta dfgum & 8 s F$ TEur
afafa 3 A R T d A aR € 7

(@) figo (b) fafism

(c) ATTAVE (d) Il avfi
frerifa § @ w-w 7@ @R A ¢

(a) &&) weaaftFTor 2 R4 e
b) YOI - FUE

(c) gy T4 afmIgs:
(d) TR T=m - Sge FR:

w7 f9T% wnd & d@faur & Pee rgede 4
qforria fr mm @ 7
(b) 3ATVBLLI0

(a) 319=82 109
(€) F=B2 111 (d) FT=6L 112

fraar 2019 3 yaRWER W) 2 IgEfed Eim-aw e
TRYRA et 4 /- & vt & A & 7
(a) AT Ty InAG@ET

(b) TOTM FoN anEAE A

{c) MR o1 FTINiy

(d) ¥ J F 7H

e fava QO sfitfr a0 sad few TR & |A
%W 433 99 § AR #) favw WIR wer & w9
g Fmm ¢

(2) T (FIAAM)

() farsa (ffifeam)

(c) T (qh)

(d) TTHW (HE)

-



